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wumber less than 10.
it being an odd number ? * 1

he probability that it will not be an even number ?. 1

D

In the figure, AB and CD are diameters of the circle. Coordinates of B are (3, 0). Write
the coordinates of O and C,

10. Write 22 —1 as the product of two first degree polynomials, 5
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- tic sequencea+1,a+2,a+3, ... 7 :
1 '_-‘-__}_ar_:*'l.: HCrence ‘? 1
geb: 3 c form of the above sequence. :

* of circumradius 3 ““ntimetres and two of the angles 40° and 50°. 3

Vrite the sequence of even ny, bers.

5 1
) One added to the product of two consecutive even ntimbers gives 289. Forma 2
second degree equation to solve hic problem.
4. Inthe figure chords AB and CD intersect at P. AB = 10 centimetres, PB =4 centimetres
¥, and PC =3 centimetres,
(@) What is the length of PA ? ' 1
(b) Find the length of PD. 2
Pis at a distance of 13 centimetres from the centre of a circle of radius 5 centimetres.
How many tangents can be drawn from the point P to the circle ? 1
@ Find the lengths of the tangents. 2

ABCD is a square, coordinates of A are (1, —5). Diagonals of the square intersect at 3
P(1, 0). Write the coordinates of B, C and D.

C
= PA, 0/ B X
A(l, —5)

PT.O.
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